Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:

Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

CBSE

SET S P2 English and Hindi MS Comb161
P2 English and Hindi MS

2022-01-08 10:33:50

150

150

Yes

P2 English and Hindi MS

1
82472449
0

150

No

No

150

No

Child Development and Pedagogy

Section Id :
Section Number:
Section type:

Mandatory or Optional :

824724212
1
Online

Mandatory



Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724404
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8247247393 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following principle suggests that growth follows a pattern that begins with the head
and upper body parts and then proceeds to the rest of the body?

Options :

1. The cephalocaudal principle

2. The proximodistal principle

3. The principle of hierarchial integration

4. The principle of independence of systems

Question Number : 1 Question Id : 8247247393 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247247394 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): While some cultures might celebrate the onset of menarche in adolescent girls, in

other cultures this might be kept a secret.

Reason (R): Childhood experiences are different for children who grow up in different cultural

contexts.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 8247247394 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247247395 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a result of the continuous and complex interaction between hereditary and

socio-cultural environment.

Options :

1. Only cognitive development

2. Only social development

3. Both cognitive and social development

4. Physical, cognitive and social development

Question Number : 3 Question Id : 8247247395 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247247396 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is an agency of primary socialization while is an agent of secondary

socialization.

Options:

1. family; neighbourhood
2. family; books

3. school; religion

4. school; peers

Question Number : 4 Question Id : 8247247396 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247247397 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, what are the most important characteristics of a teacher?
Options :

1. Inflexibility and Autocracy

2. Authoritativeness and Rigidity

3. Domination and instruction

4. Flexibility and mobility

Question Number : 5 Question Id : 8247247397 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247247398 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of cognitive development can a child reason the following?



All toffees are sweet.
This candy is toffee.

Therefore: This candy is sweet.
Options :

1. sensori motor stage

2. pre-operational stage

3. concrete operational stage

4, formal operational stage

Question Number : 6 Question Id : 8247247398 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247247399 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who proposed that cultural tools play an important role in cognitive development?
Options :

1. Lev Vygotsky

2. Jean Piaget

3. B.F. Skinner

4. Lawrence Kohlberg

Question Number : 7 Question Id : 8247247399 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247247400 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lev Vygotsky's theory, is very important for children to learn.

Options :
1. reward

2. avoidance of punishment



3. social interaction

4. conditioning

Question Number : 8 Question Id : 8247247400 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247247401 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive classroom -

Options :

1. children's participation is minimal.

2. children memorize facts given in the textbooks.
3. children work both individually and in groups.

4. children are assessed through paper-pencil tests only.

Question Number : 9 Question Id : 8247247401 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247247402 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Depiction of men and women in non-conformist gender roles encourages children to

have gender-role flexibility.

Reason (R): Gender is biologically determined at the time of birth.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 10 Question Id : 8247247402 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247247403 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of Kohlberg's stages with their underlying
principles?

Options :

1. Social-contract orientation - laws and rules are considered flexible

2. Good-boy - Good-girl orientation - focus on fear of authority and avoidance of punishment
3. Law and Order Orientation - equal exchange of favours

4. Social order maintaining orientation - self-chosen ethical principles of conscience

Question Number : 11 Question Id : 8247247403 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247247404 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per Howard Gardner's theory of multiple intelligences, intelligence includes -
Options :

1. a set of capabilities that allow an individual to learn.

2. a permanent change in behaviour as a result of experience.

3. the capacity of an individual to produce novel/original answers to products.

4. the ability to produce a single response to a specific question.

Question Number : 12 Question Id : 8247247404 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247247405 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following has been advocated in the National Education Policy 2020?
(i) Holistic development of learners

(ii) Experiential learning

(iii) Reduction in curriculum content

(iv) Multilingualism
Options :

1. (i) (i)

2. (i) (iv)

3. (i) (ii) (iii) (iv)

4. (i) (ii) (iv)

Question Number : 13 Question Id : 8247247405 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. (D) (i)
5. (1) (i) (iif) (iv)

. (i) (i) (iv)

Question Number : 14 Question Id : 8247247406 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An example of question that promotes analysis is -

Options :

1. When was the Right to Education Act passed?

2. What can you infer from depiction of men and women in media after watching advertisements?
3. In which year was Lev Vygotsky born?

4. Name the stages of cognitive development proposed by Jean Piaget.

Question Number : 14 Question Id : 8247247406 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247247407 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment for learning includes -

(i) Assessment before, during and after the teaching-learning
(ii) Self-assessment

(iii) Formal as well as informal procedures

(iv) Feedback for students and the process of teaching-learning
Options :

1. (i) (iv)

2. (i) (i) (iv)

3. (i) (iii) (iv)

4. (i) (i) (iii) (iv)

Question Number : 15 Question Id : 8247247407 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247247408 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Principle of Inclusive education promotes:
Options :

1. Deficit approach to view students

2. Medical model of disability

3. Respect for individual differences

4, Segregation of students

Question Number : 16 Question Id : 8247247408 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247247409 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following significantly impacts social communication skills and ability to make

friends?
Options:

1. Autism

2. Dysgraphia

3. Cerebral Palsy

4. Locomotor Disability

Question Number : 17 Question Id : 8247247409 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247247410 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will hamper inclusion of student with Dysgraphia?
Options :

1. Compulsory written assignments for assessment

2. Extra time to make notes and share ideas

3. Provide typed copies of classroom notes

4. Provide an audio recorder or a laptop in class

Question Number : 18 Question Id : 8247247410 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247247411 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



For the successful inclusion of students with hearing impairment, a teacher should:
Options:

1. discourage use of sign language.

2. extensively use verbal explanations.

3. provide audio tapes of lectures.

4. use ample non-verbal expressions.

Question Number : 19 Question Id : 8247247411 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247247412 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy with

respect to inclusion of students with the specified learning preferences?
Options:

1. Auditory: Assessment based on written work

2. Visual: Content delivered mainly through lecture

3. Kinesthetic: Expect passive listening



4. Tactile: 'Hands-on’ experiences for learning

Question Number : 20 Question Id : 8247247412 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247247413 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does the following statement illustrate?

Children of fruit and vegetable sellers learn addition of numbers earlier than their peers.
Options:

1. Learning occurs in a socio-cultural context.

2. Learning does not take place outside the school.

3. Curriculum should be decontextualized.

4. Curriculum should be centralized.



Question Number : 21 Question Id : 8247247413 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247247414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should not allow children to participate actively in the classroom

discussion.

Reason (R): Children are not capable of constructing knowledge and learn best through reception.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).

3. (A) is true but (R) is false.



4. Both (A) and (R) are false.

Question Number : 22 Question Id : 8247247414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247247415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should see cultural differences of the children in his classroom as:
Options :

1. Barriers in process of learning

2. Defects among children

3. Irrelevant to the process of learning

4. Strengths to build upon

Question Number : 23 Question Id : 8247247415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
e, TTTeTeRT BT STUT T H TS 3 SR e (eI B R T ST e

Options :

| T i R o E e

5 Termfofa o =t
5 AT WT5FaT 3 o0 STt

. gm%r—e'maﬂ'r?

Question Number : 24 Question Id : 8247247416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students learn meaningfully and effectively when teacher uses approach for teaching-

learning.

Options :

1. Behavioristic

2. Constructive

3. Decontextualized

4. Mechanical

Question Number : 24 Question Id : 8247247416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247247417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following condition will facilitate students' learning and thinking?
Options :

1. Creating situations where students are passive listeners.

2. Discouraging participation in classroom discussion.

3. Restricting students to take control over their own learning.

4. Providing students with hands-on activities.

Question Number : 25 Question Id : 8247247417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247247418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Alternative conceptions of students -

Options :

1. are not at all related to their social and cultural experiences.

2. illustrate that students have an inherent need for meaning-making.
3. should be discouraged by completely ignoring them.

4. helps the teachers in identifying with low intellectual capabilities.

Question Number : 26 Question Id : 8247247418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247247419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following factors/techniques hinders problem-solving in children?
Options:

1. Visual representations of problems

2. Focus on functional-fixedness

3. Use of analogies

4. Breaking the problem into parts

Question Number : 27 Question Id : 8247247419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247247420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- thinking about our own thinking is a key component of our own ability to regulate

our own learning processes.
Options :
1. Attentional processes

2. Retentional processes



3. Cognition

4. Metacognition

Question Number : 28 Question Id : 8247247420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247247421 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following strategies would not be helpful in motivating children for learning

meaningfully?

Options:

1. Encouraging mastery-oriented goals

2. Creating collaborative learning ethos

3. Cultivating positive teacher-student relationships

4. Promoting entity view of ability in students

Question Number : 29 Question Id : 8247247421 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247247422 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Anxiety of exams and fear of failure -
Options :

1. do not have any effect on learning.
2. facilitate effective learning.

3. have a negative effect on learning.

4. intrinsically motivate students for learning.

Question Number : 30 Question Id : 8247247422 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Clear Response: Yes
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Sub-Section Id : 824724405
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247247423 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sum of the fractions 42 and i is

Options :
1
) %2



Question Number : 31 Question Id : 8247247423 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
* 3 = 5 5 -
T4 = sik— wame:
8 16

Options:

1
i

Question Number : 32 Question Id : 8247247424 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which smallest number should be subtracted from 9222 to make it a perfect square?

Options:
1. 2

Question Number : 32 Question Id : 8247247424 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9222 T T f2Fe e HEAT I =TT ST {3 77 Uk qUf it & S0

Options :

Question Number : 33 Question Id : 8247247425 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is not divisible by 117
Options :

1. 222222



, 333333

3. 10111013

4, 10011013

Question Number : 33 Question Id : 8247247425 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Ffeitas & & -9 9T 11 9 Tvsg 78 22

Options :

’J"]"I’!I’}z

5 333333
3 10111013

4. 10011013

Question Number : 34 Question Id : 8247247426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=242 Nie

The reciprocal of ( i

Options :

1
2

2, =2



Question Number : 34 Question Id : 8247247426 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
=5 2 =
— = — | I E:
55 11 2

Options :

Question Number : 35 Question Id : 8247247427 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If A, B and C are digits and
AB

X3

CAB
, then values of Aand C are
Options :
1. el =]



, A=3, C=1

5 A=4,C=1

4 A=5,C=1

Question Number : 35 Question Id : 8247247427 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I7T A, B 3R C 37 & a9

A B
X 3
CAB
T, AAATCHFAFE:
Options :
1. A=2C=1
, A=3,C=1
3. A=4C=1
4 A=5C=1

Question Number : 36 Question Id : 8247247428 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the value of x is 25% more than the value of ¥, then the value of y is less than the value of x by

Options :



- 20%

—

5 25%

3. 35%

4. 40%

Question Number : 36 Question Id : 8247247428 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aﬁ.\-wnﬁy%m& 25% aﬁlﬁ%‘,ﬁ:rywm?x%ﬁqm H w22

Options :

\ 20%

4. 40']-";.‘:

Question Number : 37 Question Id : 8247247429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How much is 2y* - 15y* + y + 15 greater than 18y°® + 34y* - 50y + 707

Options:

1 2y*—18y* +49y* + 51y —85

5 2y*—18y* —49y*+51y—55



5 16y*—49y%+51y—85

4 16y*—49y*+ 15y —55

Question Number : 37 Question Id : 8247247429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2y* - 15y2 + y + 15 &9 18y> + 34y% — 50y + 70 ¥ a1 a1 82

Options :

; 2y*—18y° +49y® + 51y — 85

, 2y*—18y" — 49y° + 51§55

5 16y* —49y% + 51y — 85

4 16y° —49y® + 15y — 55

Question Number : 38 Question Id : 8247247430 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If 7x — 1 = 48, then the value of 2x® + 3x is

Options :
1. 707

2. 70

3, (77



4 385

Question Number : 38 Question Id : 8247247430 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ae 7x — 1 =48 B, 2x3 + 3x FANE:

Options :
1. 707

2. 170

3. B

Question Number : 39 Question Id : 8247247431 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Coefficient of x in the product of (x —y ) and (3x+5y)is

Options :
1.2y

2. 2V



Question Number : 39 Question Id : 8247247431 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(X —y )& (3x + 5y ) 3 TAHA H x FI 0D T
Options :

1. 2Y

5. —2Y

Question Number : 40 Question Id : 8247247432 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Factors of 15xy —6x +5y— 2 are

Options :
1 (5y—2)and (5x+1)

, (3x+1)and (5y—2)

3 (5x—1)and (5y+2)

4 (3x—1)and (5y+2)

Question Number : 40 Question Id : 8247247432 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
15xy — 6x + 5y — 2 E’ﬁT‘H@E%
Options :

, (5y —2)3R(5x +1)

3 (3x +1)3R (5y — 2)
3 [5x—1}x?-ﬁ'{{5y+2‘1

4 [3x—1}3ﬁ'{{5y+2]

Question Number : 41 Question Id : 8247247433 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, AB=12cm and BC=15cm, then which of the following statements is true?
Options :

1. 3cm < AC <27cm

2. AC <3cm

3. AC > 27cm

4. AC =27cm

Question Number : 41 Question Id : 8247247433 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



foreft PP ABC &, 7 AB = 12 om ¥ BC = 15 om 2, 7t Fietfeifas & & #19.81 9 774 27

Options :

1. 3em<AC< 27 cm
2 AC<3cm
3. AC> 27 cm

4. AC=27cm

Question Number : 42 Question Id : 8247247434 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following figures do not have the same number of lines of symmetry?
Options :

1 Isosceles triangle and kite

», Rhombus and rectangle

3. Scalene triangle and parallelogram
4. Kite and rhombus

Question Number : 42 Question Id : 8247247434 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frfead o & FH-5t STTpieat 5 9HiHe [@retl 1 ST se T2t et 87

Options :

1.



Question Number : 43 Question Id : 8247247435 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In a triangle PQR, side QP is produced to a point S. If ZRPS=108" and £Q=20°, then 32R + 22Q is equal to

Options :
1 318°

5 304°
3 264°

4 128°

Question Number : 43 Question Id : 8247247435 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TS PQR 1 5T QP 1 e § T e 1 21 % LRPS = 108 31 £Q =20 8, 3R +2LQ T

=3
@

Options :



5 304
3 264

4 R

Question Number : 44 Question Id : 8247247436 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Qs apoint on aline AB and OC and QD are two rays on the same side of AB such that ray OC lies hetween
rays OAand OD. If LAOC= 3y, 2C0D=30° and £BOD=5y, then the value of 4y +10° is

Options:
7. 70°

2. 157
3 85°

4. 90°

Question Number : 44 Question Id : 8247247436 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%ﬁr“r@mwoum%g%am 0C % OD T&T AB % T2 21 377 21 o670 39 Wahm 2 3 far OC et 0A
I OD FEH fm 2 37 LAOC=3Y, LCOD=30° R ZBOD =5 & T4y + 10° FARE:

Options:



4. 90°

Question Number : 45 Question Id : 8247247437 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[T, V and E are respectively the number of faces, vertices and edges of a pentagonal prism, then which of
the following statements is not true?

Options:
1. F+E—V=12
> V+E—F=18

3. 2V+F —E=10

4. 2V+2F —E=19

Question Number : 45 Question Id : 8247247437 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

DI FV T E 5 L3 dﬂﬂdlﬂﬂf{ TR e wq;i, vt aﬁrmﬁ%‘mw%m RefforfEs 3 8 -
W I TR 2

Options :

, FrE-V=12%



, V+E-F=18%
3 2V+F—-E=10%

4 2V+2F—E=19%

Question Number : 46 Question Id : 8247247438 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Area of a thombus is 240cm?. If one of its diagonals is of length 30cm, then perimeter of the rhombus is

Options :
1. 120cm

2 136cm
3. 60cm

4. 68cm

Question Number : 46 Question Id : 8247247438 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
%ﬂ?ﬂﬂ?@iﬁw 8% 240 cm’ %la%mwﬁmﬁa%‘rm 30 cm%ﬁ?ﬁﬂﬁ@ﬂﬁfﬁrmﬁ:

Options :

1. 120 cm

2 136 cm



3. 60 cm

4. 68 cm

Question Number : 47 Question Id : 8247247439 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Length of a rectangular field is thrice its breadth. If perimeter of the field is 400m, then (2 X length + 3 X
breadth) is equal to

Options :
1. 550m

5 450m
3. 500m

4. 650m

Question Number : 47 Question Id : 8247247439 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TRl TR G 1 T TWeh1 =TS 01 (T €] A1 30 G 1 W00 400 m 2, 7 (2 X T + 3 X 1)
TR

Options :
1. 350 m

2 450 m

3. 500 m



4. 650 m

Question Number : 48 Question Id : 8247247440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From a cube of side 8cm, small cubes each of side 4cm are cut. What is the difference between the total
surface area of all the small cubes and that of the original cube?

Options :

1. No difference
5 384 cm?
3. 382 cm?

4. 372 cm?

Question Number : 48 Question Id : 8247247440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

8 cm gmﬁmmﬁﬁmgwﬁmmﬁaﬁr%Hﬁﬁ%aﬁ%@q@méﬂwaﬂwﬁmm%
T S AR

Options :

| IS S T
> 384 cm”

|
3. 382 cm”



i |
4. 372 cm”

Question Number : 49 Question Id : 8247247441 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the sum of the mean and median of the observations 15, 21, 6, 18, 25, 13, 20, 9, 12 and 8?

Options :
1. 274
2 28.7

3 26.4

4 297

Question Number : 49 Question Id : 8247247441 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 15, 21, 6, 18,25, 13, 20, 9, 12 3R 8 3 H1e7 21T AT 7 0T 3471 27
Options :

1 274

5> 28.7

3 26.4

4 29.7



Question Number : 50 Question Id : 8247247442 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The letters written on paper slips of the word MATHEMAT I C S are put ina bag. If one slip is drawn from
the bag, without looking at, then what is difference between the probabilities of getting a consonant and a
letter M?

Options :

E

—
(=
(=

O | bk

Question Number : 50 Question Id : 8247247442 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TEMATHEMATIC S ¥ 71 75 31 01 O e 1 dm 4w e o 8 SR s 9w 1
o 3, % F e ST 2, A o 9 4T % SR, M TR 5 61 STamton o i 7 27
Options :

5
) 11



O |

Question Number : 51 Question Id : 8247247443 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"Assessment techniques in Mathematics is an important factor that contributes to Mathematics anxiety
among students". Which of the following is/are correct reasons for the given statement?

(a) Assessment in Mathematics is done only to test if the student knows or does not know the answer.
(b)Assessment in Mathematics is designed to test the student's capability of arriving at a unique answer
using the correct procedures.

(c) Assessment techniques in Mathematics focus on process of learing hence gives scope of discussing
multiple ways of doing a problem.

(d) Assessment is focused on testing the memorisation of facts and formulae rather than concept
learning. Choose the correct option

Options :

1. (b)and (c)

5> Only (c)
3. (a), (c) and (d)

4. (@), (b)and (d)

Question Number : 51 Question Id : 8247247443 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TV 3 ST 1 e O e 2% 1T & 105 T 3 TV 24 P o AT e 2 e
R F-HH QTR 7 AL
a) TNV 5 SATeReR el T2 S o (o7 [T 1 2 o 078 1 30 31 2 2 7
b) T 3 TR P 2 ) Tl 2 ST ) T 3 7 et o 4 8 1t o
AT 1 T2
c) T SRR 1 e T 1 7T O 8 1 2, 0 41 3 70 6 g W o Ol
T T AT 8
) TR T 7T 5 T AT ST o e 2 A 97 e
T e A T A

Options :

(b) #R (c)

1

5. FT ()

5. (a), (c) 3R (d)

4. (), (b) 3R (d)

Question Number : 52 Question Id : 8247247444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the BEST example of precise mathematical statement?
Options:
1. Altitude is the perpendicular line only from the topmost point of a triangle to its base.

5> The LCM of two numbers can be calculated by multiplying the numbers.

3. Similar triangles can be formed if two angles are known.



4. Asquare is symmetrical but a pentagon is not.

Question Number : 52 Question Id : 8247247444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
freferfga = & #i-ar ufterg i Fu= 1 Haw SugT SETe E 2
Options :

1 S, Forett gt 3 Sharet il forg & Soer 1w 7 it wiaay 2|

, 31 FEATAT 3 AT FHIGAE %1 AT F@ATAT 3 TN &2 3hi o Ahal 2

5 TS 21 10T T B A FHET S A S A

. U T WA AT 2 SR U U e T 2 2

Question Number : 53 Question Id : 8247247445 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher asks the students to draw some circles and measure its radius and diameter. Then she asks them
to find the relationship between radius and diameter of the circle in each case and conclude their findings.
This method is an example of;

Options :
1 Analytical approach

, Axiomatic approach

3. Deductive approach



4. Inductive approach

Question Number : 53 Question Id : 8247247445 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

wwzﬁwmﬁﬁr@qwm YT ST 3T A T ST 3 o e ) 36 04T 9% 97 o1 e
1 AT A 2 3 1 25 e 0 T 90 T e 1T 7 o, T 25 Tl e € 7
T

Options :

| TSI 3T

5 A SUTTH T

~.
3. THIHATHR 3UTTH &7

4, STRTHATCRS SUTTH 3

Question Number : 54 Question Id : 8247247446 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Four of your students made the following statements, after studying the concept of probability.
Though no statement is fully correct, who is showing the MOST conceptual clarity?

Options :
1 Idon't know if it will rain tomorrow or not. So the probability of raining is 0.

5 Iam sure my favourite team will win tomorrow's match. So probability is not relevant here.

3. Since petrol prices have been increasing for the last one year, probability of them increasing further is 100%.



4. | don't know what scores | will get in the exam tomorrow. So probabilty of my passing the exam is 50%.

Question Number : 54 Question Id : 8247247446 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT T T = T 37 ST 31 057 7 o 7% (e el 2ol &
Wﬁﬁiﬂmgﬁﬂﬁﬂ?ﬁﬂﬁﬁﬁﬁwﬁmaﬂﬁm (TR T8 1 T T 2

Options :

1 ﬂﬁﬂ%”rw%wmﬁﬁmﬂﬁl 379 INT ! TTFeaT 0 2

, aﬁuﬁq%%ﬁﬁ%wa 17 e T O S| 3T T UTHERAT IR TR 2

3 TR U1 1 e (Uet U |1 ¥ 9 T 2, AT 9 S Fe i It 100% 2

. e e T fo et AT 5 7 Tt oo TR e ST e T e o T 50%

Question Number : 55 Question Id : 8247247447 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sameena is infroducing the concept of fractions. She has planned following three activities:
|. Symbolically representing fractions on the black board.
II. Representing different fractions with diagrams in various ways.
[II. Engaging students with concrete material to represent different fractions.

Help her order these activities in the most appropriate sequence to build the concept well.

Options :
1. L, 11, 1

AT



g I,

4 LI

Question Number : 55 Question Id : 8247247447 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T 1 ST S 3 R 1 2 A S T 0 1 3

|, TATHUE T TR &0 4 et o Foee e

1. T et 8t g o e Ty e @ e e

11 e foe 1 4 e 2 e T 370 3 T 1 e e

ST 1 5 7% § T T 5 1070 39 G AT 81 e 31T 37§ T e ¥ Soeh e
]

Options :

. LI 1

1

, 1L LI

5 IL LI

o LT

Question Number : 56 Question Id : 8247247448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements resonate the vision of National Curriculum Framework 2005 for
mathematics and its pedagogy?

Options :

1. Mathematics is a way of thinking



», Computation is the essence of all mathematics
3 Creating competition amongst learners in mathematics

4. Regular tests in mathematics lead to developing problem solving skills

Question Number : 56 Question Id : 8247247448 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT % & 9.1 4 TR 7 e o741 3 o 519 Wt e 2005 7 312 & 5 ey
L

Options:

| TITOTA =i a1 Uk e 2

5 TTehere | TTToT o1 @1 2

3, TITOTA & TeTeTieat 5 19w J Siaead] 3eq= 31 o)

- | T

4 TITOT F TRTHA GTETE ST HHTETR % 19T o [T ol AR ST A 2

Question Number : 57 Question Id : 8247247449 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student has simplified the expression (3x +2x +5+6) as 16 x
Which is the MOST appropriate next step for the teacher to remediate the misconception?

Options :
1. Explain the meaning of variable and how it differs from a constant.



» Revise the rule that only "like terms” can be added.
3. Put different values of x in both the expressions and show that they are not equal.

4. There is no issue in the student's understanding.

Question Number : 57 Question Id : 8247247449 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T BT 3 S (3x+2x+5+6) T 16X % B TTeASA 5T 2|
TR 3T UH ¥ TEﬂt.a}H yur:ca ﬁﬁg\‘ﬁﬁﬁﬁﬁﬂﬂw SO AT heH F19 HT%‘?

Options:

| T 7Y T SR 77 +ff foF 7w ve feunie @ e e A )

, AT A IS S S 7 39 e w6 | )
5 T ST H x 3 TH=-T 919 7@ A1 @ 1o 3 99 78 2

4. BT TG H FE G A8 2

Question Number : 58 Question Id : 8247247450 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Susan brought a chess board to her class. Which of the following is LEAST suited to be taught using a
chess hoard?

Options :
1. Fractions



> Area

3. Congruence

4. Percentage

Question Number : 58 Question Id : 8247247450 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

gﬂ?@?mﬁﬁmﬁwwa | F=ATeTEn 3 @ -1 TS %1 7 ek U0 S 3 (o0 Hl &
I €

Options :

Question Number : 59 Question Id : 8247247451 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following concepts can be taught using a Geoboard?
Options:

1. Tessellation and Area



2. Volume and Area
3. Area and Perimeter

4. Tessellation and Symmetry

Question Number : 59 Question Id : 8247247451 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e & Swa & Frefeies & 5 H19-91 ST a1 et 29
Options :

| SR (S1E) 7 &

2. HTHAA Sﬁ'{f‘gﬂ'hﬂ

 2feerem (Swe) o wfE

4

Question Number : 60 Question Id : 8247247452 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sheena taught the concept of area of a circle. Which of the following is the BEST example of an
‘authentic task' to assess students on this?

Options:

1 Design a bangle for your sister using a flexible metal wire.

5 How will you derive the area of a circle by dividing it into smaller pieces?



3. What will be the area of a circle with diameter 20 cm?

4. Buy the right amount of paint for painting a circular table in school.

Question Number : 60 Question Id : 8247247452 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o 1 4 97 4 1 RO US| 6 T 1 et 3508 3 o, o o @ ST - 1
! o] T AR A )

Options :

T e ST 6T A AT I Bk AU e o Form ek < s

g freft I T BT gmfﬁ T TS 9755 9T 9% 356 379 )

20 ﬁ-:ﬂ' =T ::”{;| T I =31) WW%?IJFI?

ferameTa o SRR 5 i U2 W o o FE A ° U T

Question Number : 61 Question Id : 8247247453 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a pair of Kharif crops?
Options :

1. Wheat, Mustard

» Mustard, Paddy



3. Paddy, Maize

4. Maize, Peas

Question Number : 61 Question Id : 8247247453 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frrefetfia & & i 1 T FEet 3 7 27
Options :

, O, &

Question Number : 62 Question Id : 8247247454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The table below matches three human diseases with their causative microorganisms and mode of
transmission. Some entries in the table have been marked as X, Y and Z.

Human Disease Causative Mode of
Microorganism transmission
Typhoid Bacteria X
Measles Y Air
Dengue L Mosquito

Replacing X, Y, Z respectively with which of the following terms would correctly fill the table?

Options :




~ Water, Virus, Protozoa

—

~ Air, Bacteria, Virus

N

~ Water, Virus, Virus

w

~ Contact, Virus, Bacteria

N

Question Number : 62 Question Id : 8247247454 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
< €1 78 e A S T 3 T 3 T H\?:H\:!hld\i aﬁrw%aﬁaﬁﬁm%m&wﬁ@

TaTEA X, Y R Z F v s e i 3
T T gAAE | T
T | X
el Y KL
S Z T
X, Y, Z 175 37 T T et ST 0 & AT 0 e 1 0 2 vy
Options :

| ST, TR, TS

2

5 T, I, T

4 ST U, I, SF T

Question Number : 63 Question Id : 8247247455 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reading the following statements carefully and choose the correct option.
Assertion (A): Mercury is used in thermometers.
Reasoning 1 (R4): Mercury is a good conductor of heat.

Reasoning 2 (Ry): Mercury expands uniformly when heated.
Options :

1 Both R4 and R, are correct and together provide the correct explanation for A.

, Ryis correct explanation for A.

3. Rois correct explanation for A.

4. Both Rq and R; are incorrect.

Question Number : 63 Question Id : 8247247455 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=1 T U= i SATIES Uiy, TR Tl [6ehed T == i)
FATFYA(A): IHTHIT F I T YT 24T 2|
FRO(R1): TR ST H1 T ¢

FION(R2): T 37T 9 0 UR T UF B9 TET BT 2

Options :
1 R1 T R2 T1 92t & o ferem A ot 9 s o &
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Question Number : 64 Question Id : 8247247456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statements below:
A. All protozoans are unicellular
B. All bacteria are unicellular
C. All fungi are unicellular
Which of the above statement(s) is/are correct?

Options :

1. Only B

, A&B
3 B&C

4 A&C

Question Number : 64 Question Id : 8247247456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 8247247457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The radii of two metallic balls A & B are in the ratio 3:1 and their densities are in the ratio 1:3. What will be
the ratio of the masses of A & B?

Options :
1. 3:1

2. 1:3

3. 11

Question Number : 65 Question Id : 8247247457 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 8247247458 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A sample of water has a boiling point of 96°C. Which of the following inference(s) could explain the
observation?

A. There are some impurities present in the sample

B. The sample taken is of sea water

C. Water is being boiled at high altitude

Options :
1. Aand B

, OnlyB

3 A,Band C

4 Only C

Question Number : 66 Question Id : 8247247458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247247459 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which property of Aluminium makes it suitable for making foils for wrapping food?
Options :

1 Itis a good conductor of heat.
, It does not react with oxygen.
3. Itis highly malleable.

4. It forms useful alloys.

Question Number : 67 Question Id : 8247247459 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
S 31 7 10 9 QT W FTUeR 3 ot et (4 39T 3 (o7 903 9T )

Options :

| TETE Wﬁiﬂltﬁm%

5 TE TS 3 WY SATHTRAT 7] T



; T8 T AT 2

TE FATHT (T & &

4

Question Number : 68 Question Id : 8247247460 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct description of the phenomenon of nitrogen fixation in plants?

Options :

1. Conversion of ammonia into nitrites and then into nitrates

», Reducing nitrates present in the soil to release nitrogen gas
3. Decomposing complex, dead organic matter into ammonia

4. Converting atmospheric nitrogen into oxides of nitrogen

Question Number : 68 Question Id : 8247247460 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247247461 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Afamily travelled from Surat to Mumbai by car. The odometer of their car reads 5812 km at the start of the
frip and 6092 km at the end of the trip. If it took them 5 hours 20 minutes to complete this journey, what was
the average speed?

Options :
1. 48.5 km/h

> 51 km/h
3. 52.5 km/h

4. 56 km/h

Question Number : 69 Question Id : 8247247461 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 48.5 km/h

> 51 km/h

3. 52.5 km/h



4. 56 km/h

Question Number : 70 Question Id : 8247247462 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Taking Milk of magnesia is an effective remedy for acidity. The chemical reaction that takes place in the
process is an example of

Options :
1 double displacement reaction only

, single displacement reaction only
3. both double displacement and neutralisation reaction

4. Neither double displacement nor neutralisation reaction

Question Number : 70 Question Id : 8247247462 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247247463 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option
Assertion (A): Virtual images cannot be obtained on screen.
Reasoning R1: Virtual images are formed at points where the light rays appear to diverge from.

Reasoning Ry: Virtual images are always erect.
Options :
1 Both R¢ & R are correct but R4 provides the correct explanation for A

, Both Ry & Ry are correct but R; provides the correct explanation for A

3 Ryis correct but Ry is incorrect

4. Rois correct but Ry is incorrect

Question Number : 71 Question Id : 8247247463 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247247464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would be the time-period of a simple pendulum if its length is increased four times?
Options :

1. become four times

> becomes twice

3. becomes half

4. No change

Question Number : 72 Question Id : 8247247464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 8247247465 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After fertilization, a zygote will develop into a human male if
Options :
1. the egg had one Y chromosome

5 the sperm had one Y chromosome
3. the sperm had one X chromosome

4. the egg has two Y chromosomes

Question Number : 73 Question Id : 8247247465 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247247466 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a product of anaerobic respiration in our muscles?

Options :
1. Water

> Alcohol

3. Glucose

4. Lactic acid

Question Number : 74 Question Id : 8247247466 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247247467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What happens to the weight of iron nail when it rusts?
Options :

1. It increases

2 It decreases

3. It remains the same

4. ltmay increase or decrease depending on conditions

Question Number : 75 Question Id : 8247247467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247247468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An element ‘X reacts with oxygen to produce an oxide whose solution turns red litmus blue. Which of the
following could be X?

Options :
1 Sulphur

» Magnesium

3. Carbon

4. Nitrogen

Question Number : 76 Question Id : 8247247468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247247469 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the following, identify the pair of organisms which reproduces by binary fission.
Options :
1 Hydra, Cockroach

- Yeast, Amoeba
3. Amoeba, Paramecium

4, Hydra, Yeast

Question Number : 77 Question Id : 8247247469 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247247470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statement(s) is/are true?
A. All physical changes are reversible
B. All chemical changes are irreversible

Options :

1. Only A

> OnlyB

3. Both Aand B

4. Neither A nor B

Question Number : 78 Question Id : 8247247470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
feAffer g e s T FuT g 27

A- T i uitEe afaadt 2 2

B- T TETEF TG SAERAIE 21 2

Options :

1 FEAA

, T B

3. ﬁEBﬁ

4 TAIRTB

Question Number : 79 Question Id : 8247247471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The image formed by a pin-hole camera is real. Which of the following properties of light provides the hest
explanation for this phenomenon?

Options :
1 Light travels in a straight line

» Light refracts on moving from one medium to another
3. Light is made up of several colours

4. Lightis a form of Energy

Question Number : 79 Question Id : 8247247471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247247472 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What would he the effect on the electrical resistance of a wire if its length and the area of cross-section are
both doubled?

Options :
1. Resistance will increase four times

, Resistance will decrease by four times

3. Resistance will double

4. Resistance will remain unchanged

Question Number : 80 Question Id : 8247247472 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T2 el AT ot TR oA e agwwmigiﬁﬁﬁmmﬁmﬁgﬂﬁﬁﬂmwmm?

Options :

1 TR =T T[T & ST

el =TT T =2 ST
2. b

| ﬁf'ﬂ IEL ?} ST
3. i)

4. T erafafda =

Question Number : 81 Question Id : 8247247473 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ms. Upasana wants to build student's understanding that air is all around us. Which of the following activities
Is MOST aligned with this lesson objective?

Options :
1 Deflating an air filled balloon using a pin.

> Lighting a matchstick in a well ventilated room.
3. Analysing the quality of air around us in the past three months.

4. Drawing a flow chart explaining evaporation and condensation.

Question Number : 81 Question Id : 8247247473 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247247474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Your students have just entered grade 8. If students have largely mastered the concepts taught till grade 7 as
per NCERT, which of the following will they most likely NOT be able to describe?

Options :

1. The functioning of an electric bell.
5> The effect of current on a compass needle.
3. The role of current in inducing chemical changes.

4. The role of insulators in thermo flasks.

Question Number : 82 Question Id : 8247247474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247247475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ms. Anjali wanted to introduce the 'water cycle' by asking students to first conduct an activity at home and
then relating that to the concept.
Which of the following activities will be MOST suitable for the purpose?

Options :

1. Keeping utensils filled with water in sunlight for a couple of hours and then observing them.
5 Collecting the steam of boiling water on a plate with an ice cube over it.

Boiling water, cooling and putting it in a filter, drinking from the filter regularly and then boiling water again to
3. fillit.

4. Walking in the garden bare feet early in the morning and feeling dew.

Question Number : 83 Question Id : 8247247475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247247476 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes an open-ended question?
Options :

1. Do you think that the root of a neem tree is edible?
> What are the characteristics of a sprouted seed?
3. Name an organism that is both a carnivore and a herbivore.

4. Which of the given food items are derived from animals?

Question Number : 84 Question Id : 8247247476 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247247477 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr. Ashwin wants his students to develop 'deductive reasoning' while teaching the concept of different types
of cells. Which of the following activities is MOST appropriate for the purpose?

Options:

Asking students to observe various plant and animal cells under a microscope and derive the typical features
1. of each type.

Explaining features of animal and plant cells to students and then ask them to identify a given cell as an
5 animal or plant cell

3. Asking students to explain the differences in features between plant cells and animal cells.

Showing different types of animal cells under the microscope and asking students to list features of animal
4. cells.

Question Number : 85 Question Id : 8247247477 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247247478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST appropriate instructional aid for a teacher to INTRODUCE the concept of
‘circular motion'?

Options :

1. Blades of a fan
2. Door knob
3. Arope-pulley system

4 Atoycar

Question Number : 86 Question Id : 8247247478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247247479 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is BEST suited to be taught using a simulation software?

Options:

1 Effect of the force of a carom striker on various coins present on the board.
» Effect of pulling a nylon rope from two opposite sides with unequal force.
3, Effect of rubbing a charged balloon and a charged refill against each other.

4. Change in pressure at the bottom of a container when quantity of water changes.

Question Number : 87 Question Id : 8247247479 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247247480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A'hook' activity is the one which makes use of students' existing knowledge and generate interest. Which of
the following would be the BEST 'hook" activity for Ms. Sowmya to use while starting an introductory lesson
on 'heart”?

Options :

Ask students to draw the heart in detail by looking at a diagram and compare it with the simple heart diagram
1. they made as kids.

5 Ask students if they would be more interested in leaming about the heart first or about the kidney first.
3. Show a movie clip with heart rate on the monitor and ask what a straight line shows.

4. Psk students to vote on which of four given organs is most important and ask a few students to explain why.

Question Number : 88 Question Id : 8247247480 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247247481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr. Renil asked his students to research and prepare a short note on the topic "aerobic and anaerobic
respiration”,

If at some point of his lesson, he wanted to use these submitted assignments as "assessment as leaming’,
what would be the MOST relevant question for him to ask?

Options :
1 How did you decide which aspects of aerobic and anaerobic respiration to include in your note?

What other sources of research could you use to strengthen your understanding of aerobic and anaerobic
5. Tespiration?

3. How does presence or lack of oxygen impact the phenomenon of respiration in different organisms?

4. Why do you think aerobic and anaerobic respiration are both important in nature?

Question Number : 89 Question Id : 8247247481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247247482 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr. Mahesh taught the concept of 'factors affecting combustion’.
Which one of the following is the BEST example of an ‘authentic task' to assess students on their
understanding of factors affecting combustion?

Options :

1. Design an alarm system which can set off before a substance reaches the ignition temperature.

> Describe how water and air affect combustion.

3 List the substances around you that are inflammable in nature.

4. Create a fire extinguisher using commonly available items.

Question Number : 90 Question Id : 8247247482 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BT H T2 I THIGA 0 ATt T 3hi AT TS 37 e F 3 o0 2|
i °§ © 4 91 It F19 3 FaE 20 2




Options :

: T AT TUTTAT R T T T ST & Teaei AT09 9% TH B o Uee ae o |

, ToET 3R U aﬁ'(m*i T T 281 T THTET A 2

; ST HATE-UTH TFI H HIS[E I GaTH] ol T S0 ST ST o

B

4. ST § SUeTeeT =fT=11 31 T ek SASIHS I7 7917 F

Language I
Section Id : 824724214
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 824724406
Question Shuffling Allowed : Yes

Question Id : 8247247483 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Study the passage given below and answer the question/complete
the statement that follow with the help of options given after each
question.

A few years ago | found myself in a tribal hamlet in upper
Assam- that's where | met a little miracle called Kalia. She was a
gibbon who'd adopted a human family. That's right, a human family
and not the other way around. But this wild animal wasn’t a pet. She
lived free, up in the canopies of trees and yet, she chose the
company of the villagers below because all of her own kind had
fallen prey to hunters. Kalia was the last gibbon in the region.

Hoolock gibbons are India’s lone species. They are both rare
and endangered, found only in the forests of northeast India. It's
easy to confuse apes with monkeys because they are both primates.
However, they are entirely separate groups of animals. The simplest
difference is the lack of a tail in apes. Chimpanzees, orangutans,
gorillas and gibbons are all apes. The smallest in that family are the
gibbons, India’s only apes — except for us as human beings are also
part of the ape family.

And that is exactly how Kalia treated me-like a fellow ape.
Within minutes of spotting me peering up at her in her tree, the
cheeky little gibbon came down, perched herself on my camera and
began grooming my head to look for nits!
| am glad | disappointed her but that didn’t stop us from striking up
a friendship. Kalia and | spent many afternoons thereafter;
grooming each other and bonding like we'd been friends for years.
She was a delight — intelligent, funny, affectionate adorable and as
human as a wild animal could be.

Sub questions

Question Number : 91 Question Id : 8247247484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer of this article is a
tourist
photographer
conservationist

4. both (2) and (3)

i Bl =

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 8247247485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Kalia adopted a human family it was
1. a normal thing.
2. arisky thing.
3. anunusual thing.
4. not liked by the family.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247247486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Gibbons don't have tails.
(b) Chimpanzees are not found in the jungles of India.
(c) Apes and humans belong to the same family.

. (a)is right and (b) is wrong
. (b) is right and (a) is wrong
(c) is right and (a) is wrong
4. Both (a) and (b) are right

W N =

Options:
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247247487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘All of her own kind had fallen prey’ means :
1. Only her own family had been killed.
2. Villagers were very kind to her.
3. All gibbons in the area had been hunted.
4. The gibbon family had fallen down from their
dwellings.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247247488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.
1. Kalia was a friendly ape.
2. Kalia was feeling lonely.
3. Kalia liked to be photographed.
4. Kalia adopted a human family for the sake of food.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247247489 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘in a tribal hamlet’

The word hamlet means
1. asmall town
2. asmall village
3. aclusters of trees
4, atribal hut

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247247490 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘perched herself on my camera’
The word ‘perched’ means :
climbed

clicked

settled

4. looked

.l il e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247247491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘It is easy to confuse apes with monkeys'.
It is afan clause
Principal

Noun

Adjective

Adverb

P L B b



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247247492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They are enfirely separate groups’.
The underlined word is an/an

1. Noun

2. Verb

3. Adjective

4. Adverb

Options:
1.1
2.2
3.3
4.4

Question Id : 8247247483 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Study the passage given below and answer the question/complete
the statement that follow with the help of options given after each
question.

A few years ago | found myself in a tribal hamlet in upper
Assam- that's where | met a little miracle called Kalia. She was a
gibbon who'd adopted a human family. That's right, a human family
and not the other way around. But this wild animal wasn’t a pet. She
lived free, up in the canopies of trees and yet, she chose the
company of the villagers below because all of her own kind had
fallen prey to hunters. Kalia was the last gibbon in the region.

Hoolock gibbons are India’s lone species. They are both rare
and endangered, found only in the forests of northeast India. It's
easy to confuse apes with monkeys because they are both primates.
However, they are entirely separate groups of animals. The simplest
difference is the lack of a tail in apes. Chimpanzees, orangutans,
gorillas and gibbons are all apes. The smallest in that family are the
gibbons, India’s only apes — except for us as human beings are also
part of the ape family.

And that is exactly how Kalia treated me-like a fellow ape.
Within minutes of spotting me peering up at her in her tree, the
cheeky little gibbon came down, perched herself on my camera and
began grooming my head to look for nits!
| am glad | disappointed her but that didn’t stop us from striking up
a friendship. Kalia and | spent many afternoons thereafter;
grooming each other and bonding like we'd been friends for years.
She was a delight — intelligent, funny, affectionate adorable and as
human as a wild animal could be.

Sub questions

Question Number : 91 Question Id : 8247247484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer of this article is a
tourist
photographer
conservationist

4. both (2) and (3)

i Bl =

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 8247247485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Kalia adopted a human family it was
1. a normal thing.
2. arisky thing.
3. anunusual thing.
4. not liked by the family.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247247486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Gibbons don't have tails.
(b) Chimpanzees are not found in the jungles of India.
(c) Apes and humans belong to the same family.

. (a)is right and (b) is wrong
. (b) is right and (a) is wrong
(c) is right and (a) is wrong
4. Both (a) and (b) are right

W N =

Options:
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247247487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘All of her own kind had fallen prey’ means :
1. Only her own family had been killed.
2. Villagers were very kind to her.
3. All gibbons in the area had been hunted.
4. The gibbon family had fallen down from their
dwellings.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247247488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.
1. Kalia was a friendly ape.
2. Kalia was feeling lonely.
3. Kalia liked to be photographed.
4. Kalia adopted a human family for the sake of food.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247247489 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘in a tribal hamlet’

The word hamlet means
1. asmall town
2. asmall village
3. aclusters of trees
4, atribal hut

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247247490 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘perched herself on my camera’
The word ‘perched’ means :
climbed

clicked

settled

4. looked

.l il e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247247491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘It is easy to confuse apes with monkeys'.
It is afan clause
Principal

Noun

Adjective

Adverb

P L B b



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247247492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They are enfirely separate groups’.
The underlined word is an/an

1. Noun

2. Verb

3. Adjective

4. Adverb

Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724407

Question Shuffling Allowed : Yes

Question Id : 8247247493 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the following poem and answer the questions/complete the
statements by choosing the correct options from the given ones.
Sympathy
1) I lay in sorrow, in deep distress;
2) My grief a proud man heard,
3) His looks were cold, he gave me gold;
4) But not a kindly word.
5) My sorrow passed ..... | paid him back;
6) The gold he gave to me,
7) Then stood erect and spoke my thanks;
8) And blessed his charity ......
9) | lay in want, and grief and pain;
10) A poor man passed my way,
11) He bound my head, he gave me bread;
12) He watched me night and day.
13) How shall | pay him back again
14) For all he did to me?
15) Oh, gold is great, but greater far
16) Is heavenly sympathy

Sub questions

Question Number : 100 Question Id : 8247247494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The proud man’s behaviour is an example of :
1) sympathetic attitude
2) philanthropy
3) empathy
4) pure kindness of heart

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247247495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statement.
A) The poor man gave money to the distressed man.
B) The poor man looked after the physical wellbeing of
the distressed man.
C) The distressed man cannot pay back the poor man.

Choose the best option:
1) Aistrue but B and C are false
2) A and C are false but B is true
3) Band C are true but A is false
4) A and B are true but C is false

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247247496 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which line in the poem shows that the distressed man
feels no obligation towards the proud man?

1) Line 3

2) Lined

3) Line5

4) Line7

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247247497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What does an ailing person crave for?
1) physical help
2) money
3) medical help and food
4) emotional support

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247247498 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Ilay in want ........]
‘want’ here is used as a/an
1) adverb
2) adjective
3) verb
4) noun

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247247499 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the best option from those that follow.
Charity (line 8) means:

1) giving a present to someone.

2) giving money to a needy person.

3) making an appeal for donation.

4) to arrange a fundraiser.

Options :



1.1
2.2
3.3
4.4

Question Id : 8247247493 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following poem and answer the questions/complete the
statements by choosing the correct options from the given ones.
Sympathy
1) I lay in sorrow, in deep distress;
2) My grief a proud man heard,
3) His looks were cold, he gave me gold;
4) But not a kindly word.
5) My sorrow passed ..... | paid him back;
6) The gold he gave to me,
7) Then stood erect and spoke my thanks;
8) And blessed his charity ......
9) | lay in want, and grief and pain;
10) A poor man passed my way,
11) He bound my head, he gave me bread;
12) He watched me night and day.
13) How shall | pay him back again
14) For all he did to me?
15) Oh, gold is great, but greater far
16) Is heavenly sympathy

Sub questions

Question Number : 100 Question Id : 8247247494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The proud man’s behaviour is an example of :
1) sympathetic attitude
2) philanthropy
3) empathy
4) pure kindness of heart



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247247495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement.
A) The poor man gave money to the distressed man.
B) The poor man looked after the physical wellbeing of
the distressed man.
C) The distressed man cannot pay back the poor man.

Choose the best option:
1) Alistrue but B and C are false
2) A and C are false but B is true
3) Band C are true but A is false
4) A and B are true but C is false

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247247496 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which line in the poem shows that the distressed man
feels no obligation towards the proud man?

1) Line 3

2) Lined

3) Line5

4) Line7

Options:



1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247247497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does an ailing person crave for?
1) physical help
2) money
3) medical help and food
4) emotional support

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247247498 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Ilay in want ........]
‘want’ here is used as a/an
1) adverb
2) adjective
3) verb
4) noun

Options :
1.1
2.2
3.3
4.4



Question Number : 105 Question Id : 8247247499 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the best option from those that follow.
Charity (line 8) means:

1) giving a present to someone.

2) giving money to a needy person.

3) making an appeal for donation.

4) to arrange a fundraiser.

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724408

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247247500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The term for describing the linguistic input to the language learning child is
1. motherese
2. infant - directed speech
3. child —directed speech
4. caregiver speech

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247247500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The term for describing the linguistic input to the language learning child is
motherese

infant - directed speech

child — directed speech

4. caregiver speech

el e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247247501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B.F. Skinner claimed that language is learnt through
repetition and approximation

reinforcement and engagement

drill and practice

4. immersion and imitation

d: I

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247247501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B.F. Skinner claimed that language is learnt through
1. repetition and approximation
2. reinforcement and engagement
3. drill and practice
4. immersion and imitation

Options :



1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247247502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The early childhood stage is the most period when the foundation are laid for life-long development and
the realisation of full potential; research shows that there are ‘critical periods’ at this stage for full development of the
brain’s potential.

1. critical

2. vital

3. essential

4. potential

Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247247502 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The early childhood stage is the most period when the foundation are laid for life-long development and
the realisation of full potential; research shows that there are ‘crifical periods’ at this stage for full development of the
brain’s potential.

1. critical

2. vital

3. essential

4. potential

Options :
1.1
2.2

3.3



4.4

Question Number : 109 Question Id : 8247247503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In bilingual classroom learners can interact in
1. the medium of instruction followed by the school.
2. their own language and can be a mix of words from two or more languages.
3. only the language prescribed in three-language formula.
4. the language with which the teacher is familiar.

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247247503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In bilingual classroom learners can interact in
1. the medium of instruction followed by the school.
2. their own language and can be a mix of words from two or more languages.
3. only the language prescribed in three-language formula.
4. the language with which the teacher is familiar.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247247504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which test best described this situation: A teacher while preparing a worksheet removes every sixth word from the
text and asks the learner to read the text after they have been asked to complete the worksheet with the missing
word.

1. Diagnostic test

2. Cloze test

3. Open test

4. Proficiency test

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247247504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which test best described this situation: A teacher while preparing a worksheet removes every sixth word from the
text and asks the learner to read the text after they have been asked to complete the worksheet with the missing
word.

1. Diagnostic test

2. Cloze test

3. Open test

4. Proficiency test

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247247505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following do NOT constitute a part of evaluating listening comprehension?
1. Giving words to spell and pronounce
2. Giving dictation
3. Telling stories
4. Reading a texthook

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247247505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do NOT constitute a part of evaluating listening comprehension?
1. Giving words to spell and pronounce
2. Giving dictation
3. Telling stories
4. Reading a textbook

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247247506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue influence can be made as a support in English classroom by:
1. Conversing in mother tongue more often than in English
2. Giving examples from the mother tongue only
3. laying emphasis on exposure to the target language only
4. Giving meaningful inputs from the target language and using the languages of learners

Options :

1.1



2.2
3.3
4.4

Question Number : 112 Question Id : 8247247506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue influence can be made as a support in English classroom by:
1. Conversing in mother tongue more often than in English
2. Giving examples from the mother tongue only
3. laying emphasis on exposure to the target language only
4. Giving meaningful inputs from the target language and using the languages of learners

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247247507 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Productive skills in language refers to
1. Speaking and writing skills
2. Speaking and listening skills
3. Reading and writing skills
4. Reading and speaking skills

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247247507 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Productive skills in language refers to
1. Speaking and writing skills
2. Speaking and listening skills
3. Reading and writing skills
4. Reading and speaking skills

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247247508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an Audio Teaching Learning material
1. Flash card
2. Telephonic conversation
3. Radio broadcast
4. Gramophone records

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247247508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an Audio Teaching Learning material
1. Flash card
2. Telephonic conversation
3. Radio broadcast
4. Gramophone records



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247247509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Remedial reaching is
1. preparation for teaching
2. random process
3. teaching program for primary teachers
4, systematic process

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247247509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Remedial reaching is
1. preparation for teaching
2. random process
3. teaching program for primary teachers
4, systematic process

Options :
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 8247247510 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following should NOT be encouraged in an ideal language learning classroom:
1. Drill
2. Fun-acfivities
3. Storytelling
4. Role-playing

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247247510 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following should NOT be encouraged in an ideal language learning classroom:
1. Drill
2. Fun-activities
3. Storytelling
4. Role-playing

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247247511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following would be the best suited for a child in Class Il who is initially leaving the language in an effective
manner;

1. Alphabet method

2. Practice and drill

3. Exposure to the language

4. Direct method of teaching language

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247247511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would be the best suited for a child in Class Il who is initially leaving the language in an effective
manner;

1. Alphabet method

2. Practice and drill

3. Exposure to the language

4. Direct method of teaching language

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247247512 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Story telling as an activity should be used frequently in classrooms primarily because:
1. It provides the teacher the necessary space to engage in other academic task
2. It lays the foundation for logical understanding and imagination
3. It allows the student to role-play
4, It help the teacher to engage the learners and maintain discipline in the class.

Options :



1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247247512 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Story telling as an activity should be used frequently in classrooms primarily because:
1. It provides the teacher the necessary space to engage in other academic task
2. It lays the foundation for logical understanding and imagination
3. It allows the student to role-play
4. It help the teacher to engage the learners and maintain discipline in the class.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247247513 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

provides an opportunity to reflect crifically on issues in term of their political, social, economic and
moral aspects. It entails the acceptance of multiple views on social issues and a commitment to democratic form of
interaction. This is important in view of multiple contexts in which our schools function.
1. Critical pedagogy
2. Collaboration pedagogy
3. Child-centered teaching
4. Teacher-centered approach

Options :
1.1
2.2
3.3
4.4



Question Number : 119 Question Id : 8247247513 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

provides an opportunity to reflect critically on issues in term of their political, social, economic and
moral aspects. It entails the acceptance of multiple views on social issues and a commitment to democratic form of
interaction. This is important in view of multiple contexts in which our schools function.
1. Critical pedagogy
2. Collaboration pedagogy
3. Child-centered teaching
4, Teacher-centered approach

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247247514 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the science class the learners read a text on mammals and view a video on the life of mammals in different locales.
Such events or activities consist of mammals moving in group on land or in water, grazing, attacking a prey, giving birth,
flocking together at the time of danger and related events.
The learners provide explanations and defend their ideas or hypotheses using their analyses and text both within and
hetween groups. Evidence and arguments along with the text expose them to various ways of finding answers or
interpreting data. This process is

1. Collaboration

2. Interpretation construction

3. Multiple interpretations

4. Multiple manifestations

Options :
1.1
2.2
3.3
4.4



Question Number : 120 Question Id : 8247247514 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the science class the learners read a text on mammals and view a video on the life of mammals in different locales.
Such events or activities consist of mammals moving in group on land or in water, grazing, attacking a prey, giving birth,
flocking together at the time of danger and related events.
The learners provide explanations and defend their ideas or hypotheses using their analyses and text both within and
hetween groups. Evidence and arguments along with the text expose them to various ways of finding answers or
interpreting data. This process is

1. Collaboration

2. Interpretation construction

3. Multiple interpretations

4, Multiple manifestations

Options :
1.1
2.2
3.3
4.4

Language II
Section Id : 824724215
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724409

Question Shuffling Allowed : Yes



Question Id : 8247247515 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247247516 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3



4.4

Question Number : 122 Question Id : 8247247517 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247247518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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b
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Options :
1.1
2.2
3.3
4.4



Question Number : 124 Question Id : 8247247519 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247247520 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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. FET
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247247521 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T Hgbiat-ﬁ FTATH IIETE T T @FRT IS 8
|. &=

Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247247522 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frreferiaa = & forr &7 T wemmey St o6 ST A Ere
| ™

. "Jrﬂ

3. @
4, fore

Options :

[

[

1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247247523 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. J=mT

Options :
1.1
2.2
3.3
4.4

Question Id : 8247247515 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Wﬁm%ﬁﬁmﬁm ngﬁ'%ﬂalmﬁ‘mmﬁ
TR M R F Ak wE A T EA A s
VITEE TNUITH EFT| WA = Aed 36§10 31 F 1961 & 1o U1 Sl
T T TR RT hTaT oF fo70 7 ToRaT S0, Shaet SATETTe o fo70
SHET YA El| T8 THAII-F A4 o [70, FHedTuTewT! STanT 5
farfarsr w9 5 o7 #| Teeh [oehie & FOT a9, @ @e 311 =g
AT TS T F ST STANT 21 T2 2| Fru—famm = off Ay weredt
ST 3T BT T 2 AT 2| el U O 7 A S
T T & 77 S0 3O I Fa | w1 Toran s @ 8 e famm
:—'rﬂﬂs-‘-rmgﬂwﬁﬁwq 33T 2| FHET FE IO U o SU= H
THY] & A HEHAT 5o

Sub questions

Question Number : 121 Question Id : 8247247516 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247247517 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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LR
i Eﬁ’ﬁeﬁdﬂﬂiu GEIEY
3. HET T ITET FAT
4. Y T FeAT TYT I T FEAT 1 TS, FA]

-

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247247518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247247519 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247247520 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247247521 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247247522 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247247523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
freferfigs sreat o & FH-9T T IYET T IS AL 22
1. =

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724410

Question Shuffling Allowed : Yes

Question Id : 8247247524 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No



Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247247525 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. T TF_fae

. TTSZaTE e et

3. T i

4. STRETF AT

Options :
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1.1
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3.3
4.4

Question Number : 130 Question Id : 8247247526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 8247247527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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I T favemm
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Options:

1.1
2.2
3.3
4.4



Question Number : 132 Question Id : 8247247528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247247529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247247530 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 8247247531 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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=
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Options :
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1.1
2.2
3.3
4.4

Question Id : 8247247524 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247247525 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 130 Question Id : 8247247526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
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Question Number : 131 Question Id : 8247247527 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
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Question Number : 132 Question Id : 8247247528 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247247529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247247530 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
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Question Number : 135 Question Id : 8247247531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724411

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247247532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 8247247532 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1

2.2

3.3
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Question Number : 137 Question Id : 8247247533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247247533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247247534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2
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Question Number : 138 Question Id : 8247247534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 139 Question Id : 8247247535 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 8247247535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247247536 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247247536 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 141 Question Id : 8247247537 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247247537 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 142 Question Id : 8247247538 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247247538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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3.3
4.4

Question Number : 143 Question Id : 8247247539 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247247539 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247247540 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 8247247540 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 145 Question Id : 8247247541 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
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4.4

Question Number : 145 Question Id : 8247247541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247247542 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 8247247542 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 147 Question Id : 8247247543 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
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Question Number : 147 Question Id : 8247247543 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 8247247544 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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2.2
3.3
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Question Number : 148 Question Id : 8247247544 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 8247247545 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 149 Question Id : 8247247545 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 150 Question Id : 8247247546 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 8247247546 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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